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iz SERBRE R (-12m) KIKTH

% # s - IR % B Y B B ff & 8 wE
EEIEE 137,722,193
MiEIEE 10,331,319 + 34,629, 716 44, 961, 035
H@REE G 1,090, 161 + 8,469,914 + 771,244 10, 331, 319
#£BREZE (FEE) 1,090, 161
HERER () 137,722,193 x 6.15% ((4.53% x1.00 +1.50%) x 1.02) 8,469,914
BERERER 137,722,193 x 0.56% 771, 244
RisgRg 148,053,512 x 23.39% ((21.47% +1.24%) x 1.03) 34,629,716
TERI 137,722,193 + 44,961,035 182, 683, 228
—REBRES 182,683,228 x 15.79% (15.79% x 1.00) — 1,982 28, 843, 699
ZHRILE 182,683,228 x 0.04% 73,073
TH{ftE 182, 683,228 + 28,843,699 + 73,073 211, 600, 000
HBERERLE 211,600,000 x 10.00% 21, 160, 000
FEIEE 211,600,000 + 21,160, 000 232, 760, 000




BEANRE AT EL R R (-12m) KEATE

4 [ g - BK-TE By H = B Ed Eel =
BEEIEE 137,722,193
EE - FE - Pinis 137,722,193
AHEI [7—v o] 132,025, 522
=y V8T 132,025, 522
-3+ B85 (5om) +ERARAK + 47407 451,500
1T IL—D 4 U TH& 525.00 860 451, 500
m2
25 S Ri5 6, 767,700
2 R GHRISENL 2,550.00 2,654 6, 767, 700
m2
25 N EH 2,850, 400
3 REHEL 1, 400. 00 2,036 2,850, 400
m2
SRR SD345 D13 18, 164, 220
4 $kERhn THESL SD345 D13 93, 630. 00 194 18, 164, 220
kg
SRR SD345 D16 4,022,400
5 $kFhin THESL SD345 D16 20, 950. 00 192 4,022, 400
kg
SRR SD345 D19 5,067, 840
6 $kF N THESL SD345 D19 26, 395. 00 192 5,067, 840
kg
a5 SD345 D22 514, 560
7 SAAN T AL SD345 D22 2.680. 00 192 514560
kg




BEANRE AT EL R R (-12m) KEATE

4 [ g - BKsTiE B #H = B Ed &8 =
5 SD345 D25 755, 520
8 Sk THEST SD345 D25 3,935.00 192 755, 520
kg
CE 37 SS400 ¢ 80mm 6, 754, 160
9 Rk MHE HHE 80. 00 67, 600 5, 408, 000
.
10 FERARFEIL 17, 040. 00 79 1, 346, 160
kg
il s 45, 875,970
11 S BIHE SRS 7,830.00 5, 859 45, 875, 970
m2
avs)—+F 30-12-25(20)BB  W/C=50% 40, 794, 910
12 329 1)— MTER 1,690. 00 24,139 40, 794, 910
m 3
BEEIEtEZLE VU ¢ 100mm L=200mm 6, 342
13 BEEEEZILE MHE 14.00 453 6, 342
m
REET 5,696,671
=y UElEY— FE#T 5,125, 680
=y UBEY— FEih 5,125, 680
14 PREREEHhERIE 7,560. 00 95 718, 200
m2
15 BREEM B LERIE 7,560. 00 583 4,407, 480
m2
T 153, 112
HEHI TR 70, 240




SRANHBXEEE (-12m) KA TE

HERNRE
4 [ B - ikt 4L = fili Ed £ wm =

16 i 222.00 316.4 70, 240

m3
TRYEE Tw 82,872
17 L& &R 222.00 373.3 82,872

m3
RBEET 417, 879
RBHEERER 417,879
18 R@FEEME 1.00 417,879 417,879

=
HEREE FEL) 1,090, 161
HiBRE 1,090, 161
HEREE 1,090, 161
EkE 1,090, 161
KBRS O oa—39L—v 1,090, 161
19 SR #H 1 E Hig 1.00 1,090, 161 1,090, 161

=




RER-FET/Svr—>

FEEEMX FE (-12m) KX TE

&5 1
B IN—D 0 TR 100m2%HY
% L g - BIRTE BT #H = B O{f | i &
W=D 1 DT EER
m2 100. 00 561. 00 56, 100
ERAZAR
m2 120. 00 31.00 3,720
B &
m3 5.00 5, 250. 00 26, 250
& B 1EZEEA : 100. 00m 2 860. 00 86,070
&5 :2
275 SRR ISR 100m2 %Y
22 5 B - BIKTE B H = B i %8 " =
MEMERISEI (5 —Y D EE) g L—ikE
m 2 100. 00 2,472.00 247, 200
70— L—r GHEEREIR) 50t /A
H 0.30 60, 860. 00 18, 258 |8H
& it YEZERES : 100.00m 2 2, 654. 00 265, 458
&5 :3
& REBE 100m2%Y
2 b R - KT B B = B ff ] H &=
AEHE (r—Y D 8lE) g L—ikE
m 2 100. 00 1, 854. 00 185, 400
70— L—r GHEEREIR) 50t /A
H 0.30 60, 860. 00 18, 258 |8H
& it YE%HEH : 100.00m 2 2,036. 00 203, 658
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FEEEMX FE (-12m) KX TE

RER-FET/Svr—>
#5554
A% $kERANTHESL  SD345 D13 1000k g &Y
% L g - BIRTE BT #H = B O{f € i &
%5 (Bi) SD345 D13
kg 1, 030. 00 106. 00 109, 180
SEHMIMEL (r—Y D EHE) g L—oikE
kg 1, 000. 00 73.50 73, 500
va—39 L— GHEERFX) 50t &
=] 0.20 60, 860. 00 12,172|8H
& &t EZREH : 1,000.00k g 194. 00 194, 852
ES5:5
L 8kERINIT#ESL  SD345 D16 1000k g4V
£ 5 B - BIKTE =-Fiv] H = B i ® 5 " =
A (B1) SD345 D16
k g 1, 030. 00 104. 00 107,120
SKAAINTHASL (r— Y D 8E) gL—oikE
k g 1, 000. 00 73.50 73, 500
70— L—r GHEEREIR) 50t /A
H 0.20 60, 860. 00 12,172|8H
& &t EZEREH : 1,000.00k g 192.00 192, 792
5.6
2 . $kEpNIT#ESL  SD345 D19 1000k g5 1)
2 b R - KT B H = B O{f ® 5B H &=
A (B1) SD345 D16
k g 1, 030. 00 104. 00 107,120
SIHMITHESL (r— D 81E) g L—okE
k g 1, 000. 00 73.50 73, 500
yR—59 L—r GhEERER) 50t &
H 0.20 60, 860. 00 12,172|8H
& &t EZEREH : 1,000.00k g 192.00 192, 792




RER-FET/Svr—>

FEEEMX FE (-12m) KX TE

&5 1
A% $kERANTHESL  SD345 D22 1000k g &Y
% L g - BIRTE BT #H = B O{f € i &
%5 (Bi) SD345 D16
kg 1, 030. 00 104. 00 107,120
SEHMIMEL (r—Y D EHE) g L—oikE
kg 1, 000. 00 73.50 73, 500
va—39 L— GHEERFX) 50t &
=] 0.20 60, 860. 00 12,172|8H
& Hi YEZEREN 0 1,000.00k g 192.00 192, 792
&5 :8
L 8kERIIT#ESL  SD345 D25 1000k g Y
22 5 B - BIKTE =-Fiv] H = B i ® 5 " =
A (B1) SD345 D16
k g 1, 030. 00 104. 00 107,120
SKAAINTHASL (r— Y D 8E) gL—oikE
k g 1, 000. 00 73.50 73, 500
70— L—r GHEEREIR) 50t /A
H 0.20 60, 860. 00 12,172|8H
& &t EZEREH : 1,000.00k g 192.00 192, 792
5.9
&% Bk MEE MHE 1R4Y
2 b R - KT B H = B ff ® 5B H &=
REkAR - B/ N\— SS400 ¢ 80mm
X 1.00 67, 600. 00 67, 600
& it 1E¥HEH - 1. 00K 67, 600. 00 67, 600




RER-FET/Svr—>

FEEEMX FE (-12m) KX TE

&5 :10
2 REkmMEIL 1000k g4V
% L g - BIRTE BT #H = B O{f | i &
MERAR - m/\—H#E3L SAFESOMULE Y L— Uik E
kg 1, 000. 00 67.20 67, 200
va—39 L— GHEERFX) 50t &
=] 0.20 60, 860. 00 12,172|8H
& &t EZREH : 1,000.00k g 79. 00 79,372
&5 . 11
275 SR BRAAT IS 100m2 %Y
2 5 B - BIKTE B H = B i %8 " =
BB AESI AR S (r— Y D BE) g L—rikE
m 2 100. 00 5,616.00 561, 600
70— L—r GHEEREIR) 50t /A
H 0. 40 60, 860. 00 24, 344|8H
& it YEZERES : 100.00m 2 5, 859. 00 585, 944
E5:12
& aro 1) — bTE 10m3HY
2 b R - KT B B = B ff ] H &=
LT4—3IHR by )—Fk 30—12—25BB W/C=50%LLT
m3 10.10 19, 950. 00 201, 495
a9 ) — MTER (G —Y D 84E) Ry JE
m3 10. 00 3,990. 00 39, 900
& it 1YE%HEH : 10.00m 3 24,139.00 241, 395
&5 :13
M BEEILLEZILE MHE m (ITm)
2 b R - KT B B = B ff ] H &=
BEIEEEZILE VU ¢ 100mm L=200mm
m 1.00 453. 00 453
& Hi 1EZRESN - 1.00m 453. 00 453




RER-FET/Svr—>

FEEEMX FE (-12m) KX TE

ES 14
¥ IREREMER T 1000m 2 L)
% L R - KT B = B O{f | = i &
E—42JL—4 (A R5RE) 3.1m
=] 0.30 56, 212.00 16, 863/5. 10H / 8H
A4 00— (B A ARRE) 8~20t
=] 0.40 50,013.00 20,005/5. 10H / 8H
LTEEXE
A 2.50 23,420.00 58, 550
MR 2RDY%
% 0.50 95, 418.00 477
& H 1EZ%8EH : 1,000.00m 2 95. 00 95, 895
&= 15
275 BREEMEUY Lk 1000m 24y
22 [z B - BIKTE B = B {f B W E " =
BEISYIUYI Y (EE RC-40
m3 192.00 2,200. 00 422, 400
E—A2TL—4F (A RRERE) 3.1m
H 0.50 56, 212. 00 28,106/5. 10H / 8H
A4 v0—7 (BB H R ERER) 8~20t
H 0.80 50, 013. 00 40,010(5. 10H / 8H
O—FO—35 (B A ARKRE) THhEL 10~12t
H 0. 40 49, 043. 00 19,617|5. 10H / 8H
LEEXE
A 3.00 23, 420.00 70, 260
MR 2E0%
% 0.50 580, 393. 00 2,901
& g YE%HEH : 1,000.00m 2 583. 00 583, 294
&= .16
L : B4 Tm3%Y
2 b R - KT B = B O{f ] W = H &=
T
m 3 1.00 316. 4 316. 4
& H 1E%HEN : 1.00m 3 316. 4 316. 4




RER-FET/Svr—>

FEEEMX FE (-12m) KX TE

BS 11
B TREER Tm3YY
% L R - KT B = B O{f | i &
TR ER
m3 1.00 373.3 373.3
& Hi 1E%HEN : 1.00m 3 373.3 373.3
&= .18
2% XBFEEE 1LY
2 L B - BIKTE B = B {f ) " =
RBFEEHEB
A 30.00 13, 860. 00 415, 800
MR 2RDY%
% 0.50 415, 800. 00 2,079
& H 1E%8EH : 1.00=C 417, 879. 00 417,879
&= 19
¥ . SRR SLERR 1LY
2 b R - KT B = B O{f ] H &=
STFL—riL—r A AR ER) CHE s J&) 25tH
H 1.50 43, 700. 00 65, 550|8H
WHRIEXE
A 5.50 25, 200. 00 138, 600
EfREEE WHEIER DY
% 434. 00 204, 150. 00 886, 011
& &t 1EZ8ER : 1.00 1,090, 161. 00 1,090, 161




e BEEMEME R (—12m) AATE
BfiRES : 1
BlixL#H : vy 00— L—2 GHEEREIR) 50tH 1B%4Y 8H
£ L R - KT B = B {f | = E %
i
L 70. 00 138. 00 9, 660
g8 (vn—39L—2) GHIEEREN=) 50t/
=S| 1.00 51, 200. 00 51, 200
& &t 60, 860
BlzRES : 2
BifiRa#H: E—42JL—4 HEAAREKE) 3.1m 1B%Y 5.10H / 8H
£ L B - BIKTE B = B ) = w5 &
i
L 47.00 138. 00 6, 486
BEF (3K
A 1.00 24, 990. 00 24,990
BH (E—42JL—4[tIA-HEHRx [T L— FiEd. Im
& B 5.10 1,310.00 6, 681 LR
BH (E—42JL—4[tIA-HEHRx [T L— FiEd. Im
% A 1.57 11, 500. 00 18, 055 #AR
& =t 56, 212
HBifikES : 3
BlREM : 24 v0—5 (B AR XERE) 8~20t 1B%Y 5 10H / 8H
% b B - BT By = B ] W = i &
i
L 31.00 138. 00 4,218
EBEF (K
A 1.00 24, 990. 00 24,990
B (24 va—5 T8 - b AxiER EEREE8~20t
i 5L 5.10 1, 150. 00 5, 865 AR
B (24 va—5 T8 - b AxiER EEREE8~20t
i B 1. 86 8, 000. 00 14, 880 AR
& &t 50, 013




il

HifiRES : 4

BEREH : O— FO—5 (B H Ax5RE)

YhF L 10~12t

FEEEMX FE (-12m) KX TE

1HZY 5.10H / 8H

£ b3 1R - ARk B3 =y B @ ol i &
B
L 34.00 138.00 4,692
BEF (3%
A 1.00 24, 990. 00 24,990
BH (O—FOo—S[RAFL-BHARAR BEEEI10~12t HEOIE2. Im
% R 5.10 992.00 5,059 EER AR
BH (O—FOo—S[RAFL-BHARAR BEEEI10~12t HEOIE2. Im
% =] 1.57 9,110.00 14, 302 #Ee
& Hi 49, 043
HlRES : 5
BlREM : S7TL—29 L—r BEAARER) ChEdiEs J8)25tH 184Y 8H
£ 5 1R - KTk BAfL = Bl %5 " =
B (SITFL—2HL—y [HEMBHES (25tH
A 1.00 43, 700. 00 43, 700

oy |\, )}

Bt

43, 700




